I. Using help.

>> help help

......................................

>> help lookfor

 LOOKFOR Search all M-files for keyword.

    LOOKFOR XYZ looks for the string XYZ in the first comment line

    (the H1 line) of the HELP text in all M-files found on MATLABPATH.

    For all files in which a match occurs, LOOKFOR displays the H1 line.

    For example, "lookfor inverse" finds at least a dozen matches,

    including the H1 lines containing "inverse hyperbolic cosine"

    "two-dimensional inverse FFT", and "pseudoinverse".

    Contrast this with "which inverse" or "what inverse", which run

....................

>> lookfor vector

.............

LENGTH   Length of vector.

CROSS  Vector cross product.

DOT  Vector dot product.

EIG    Eigenvalues and eigenvectors.

NORM   Matrix or vector norm.

..................

STREAMLINE  Streamlines from 2D or 3D vector data

PLOTV Plot vectors as lines from the origin.

PLOTVEC Plot vectors with different colors.

II. Lists, random numbers and LSA + graphics (plot)

>>x=1:10

x =

     1     2     3     4     5     6     7     8     9    10

>>y=x+rand(1,10)

y =

    1.8147    2.9058    3.1270    4.9134    5.6324    6.0975    7.2785    

8.5469    9.9575   10.9649

>>polyfit (x,y,1)

ans=

 0.9264 0.5781

>> m=ans(1)

m =

    0.9264

>> b=ans(2)

b =...

>> yfit=m*x+b

yfit =

    1.9232    2.8496    3.7760    4.7024    5.6288    6.5551    7.4815    

8.4079    9.3343   10.2607

>> plot (x,y,'o',x,yfit,'r-')

(figure in another window)

>> d=y-yfit

d =

   -0.0741    0.0844   -0.0973    0.0554    0.1144   -0.1629    0.1740   

-0.2367    0.3718   -0.2288

>> norm(d,2)/10

ans =

    0.0584

>> r2=1-sum(d.^2)/sum((y-mean(y)).^2)

r2 =

    0.9952

III. Plotting functions (ezplot) and creating output.

2 charges: 

>> ezplot('(x+1)/abs(x+1)^3+(x-1)/abs(x-1)^3',[-2 2])

>> grid on

>> ylabel 'Ex , scaled units'

>> print try

(creates try.ps)

IV. Solving equations.

>> [x,y] = solve('x^2 + x + y = 3','x^2 - 4*x + 3 = 0')

x =

 1

 3

y =

  1

 -9

Symbolic solution:

>> [u,v] = solve('a*u^2 + v^2 = 0','u - v = 1')

u =

 1 - (a + (-a)^(1/2))/(a + 1)

 1 - (a - (-a)^(1/2))/(a + 1) 

v =

 -(a + (-a)^(1/2))/(a + 1)

 -(a - (-a)^(1/2))/(a + 1)

